AT 2ATERAYF IRFERFS 2D S 1KY T Ea BT R REY
AR AR VLSS E RN T LASE S Fo N A 3 i
- CEBH I (FHALS ) XA 5)
() L T3P a- - 34507
(A) 2x+3y=2x+6 (B) 2x=y+4 (C)x—7=0 (D) 5y—7=0
() 2. /&= ~- =3 4258 Sx+3y=36 23 % > ?
(A)0 & (B)l k2 ©)2 =& (D) #2535 =
()3 +tWM:3phz B F L REFE I RFMFE T - F LY X AP Rfr __"'
— % 'L'% y mmﬁﬁ_-—j— ) _4,'_ ’,51] 400 ~ > E]'J f;%i? 51] :”‘L‘ 51]‘17'3—- I]% g ﬁi;\l ? ;\ 4
(A) 0.6x+0.75y +100=400 (B) 0.6x+0.75y —100=400 A\ (xmeE 637
(C) 0.4x+0.25y+100=400 (D) 0.4x+0.25y —100=400 ” are@m 7547
ERRNXEISF
8 mn100 =
3X_5y: ....... @
4. Rz A- ZmE SRS PR TSR R T 2y A ?
() 4p o ? {4x+7y—15 ------ @ " i 2y
(A)Dx4—@x3 (B) Ox4+@x3 (C) OXT+@x%5 (D) Ox7—@x5
() 5 2B x=1~y=—3 &7 77— BE2 3059
2X—y=5 3X+2y=4 X+y=—1 3x—4y=10
(A) _ (B) ~ ©) _ (D) _
6X—2y=12 X—3y=7 IX—y=7 2X+5y=—
3X*2y:5 ...... CD
6. T A A fE- - :'”/*i"‘:%i"éfﬂi@%i:{
( ) ” Kj—ﬁ* b ¥ y:3xf4 ...... @
HA- L RHQE > DF IX—203X—4H=5  HH;= 2 HEHE IX—6X—8=5
HE= L fE—3x=—3 WA LR (=3)F X=1e 8)
HAT Qi QE y=—1
P & JE TR - Tﬁdﬁﬂﬁfuﬁ'ﬁ 4 VIR R 7
(A) # 2~ (B) # % = ©) H %= (D) # e
() 7.2 4&4ETq 5 -8 A@,b) T et e R Y
(A) A BL3] X fherped 2| b | (B) A 23] x heiEd £ a
(C)F ARyt » Rl b=0 (D)a 5 A Bhengd
() 8 2T g 3 - K>3, ABCD # &4 % % AC0,0)~B(3,0)~C(3,2)~ y
D(0,2)c 5 F = BET Rpt £ A5 ERFE S o 3gdl > dot B o P CB /
. ) . Dl
kR s (5,0) RlsgdE e D ghendifh 5 @ ?
b (5,0) > B L ik y ’]; R
A) (5,1) B) (5,2) ©) (5,3) (D) (5,4) '
() 9 KRR GHE A LI SHELAH 45300 ~ 0 ] FLPF §5 220 2 0 F R G 2048 0 R BRI R
M G HFE T 0 SR T800 & o AW F N x g PRI Ay e MIT AR H S R A
Rz - = E S feN 9
X+y=20 X—y=20
(A) B (B) B
300x + 220y =800 300x + 220y —800=220x+ 300y
(C){ X+y=20 (D){ X+y=20
300x + 220y +800=220x+ 300y 300x + 220y — 800 =220x + 300y
( )10 FeF bt E{* BKp I AT - P25, e o dFI32 AR AN Al 8 K 14450 F B fmps 4
Bop g RIS B SR
(A) 4 im (B) 6 i® (C)8 i@ (D) 10 4@
A G A AN



S BRI (FRAL S R364)

2 4238 2x+3y=>5 hjz » Bl y= \
Up o X phApBE 8 B H K 0 2y dhipRE S BH 2K

1.2 ;wx=1

2. srP B A S %2

3.1 f§ AX—2y+3+5y—T7+9x= o
4.1 i X—3y—3 _ 2X—y—5 _ )
2 3
, y S5x+2y=[]
5% x=2 :w*i”‘vﬁ_;“{ g gz > BIL]= °
2x—y=T7
6.% | 2x+7y—9 | + | x+4y—7 | + | 2x+3y+k | =0 pl k= o
, . . Jax+3y=5 P
7_‘-‘7\5‘/( — = :":»’\4 ’n"—'—‘,'a;g’X:l\ :—2,6
fe f < B A2 3 {x+by:3 AEa y
PRE B EE P agEE o Bla—b= o
8. 1= u?ﬁa@%%$ FRAGTHEIFEE £F540~; FEIGT L

FEw I VRIS IV &2

9.4c% Bl » % AABC thi #£ €32 £ m= .

R P BEehd 4R 5

F4 b #Ex=2>

:_1 ,xf Lb%

gflj—r 15;1»,&,'?(-

B(—3,2) 4(5,2)
e I(FHELS  E 24 45) o1 !
14 2B BIERSER AFLEASSH RRFIIM G 2 - 820~ FH-38507 > % %77 400 © F
Ao P E -3 PR -% O RAEHZITRE T HES0 AT RY
2.3 2X*y:5‘f’;‘7 mx-+y=>5 J#Bpﬁéﬁﬁ;’ff‘mxn FiE ?
X+y=I 2X—3ny=7
3.¢ T g b ehd BE A(X+HY,2X)~B(2y,y) FAR®ZS5HE> BEkw t 6E > AfrBAagE L > Bl A

SRR LR S AT L SR
TR ER-f PG 2 A8%H
BRI F 5 3500 & pptose

4. & F 5% 7 BT RIS T 2B
ok (T WA B A EEEA
BowfEG 4 AERFE o g PHD

FEEG 540

[

XFFALR KK

L 5 Fag
A v |
#hFD
Hmypfgs

;}6?\ J 150 ~
H Az (7

a2



B AERAYPE IREFERS 28 1KY T e oS4
Fr 2 d EReDT B AL e ’ﬁ‘ﬁa‘r*é\ °
- ERALA% (L4 L)
1. 2. 3. 4. 5. 6. 7. 8. 9. 10.
B D C C A B A C D D
- \ﬁf¢%§36% (—3{{44\)
1. 2. 3. 4. 5.
1 (5°—8) | 13x+3y—4 | —x—7y+1 4
6
6. 7. 8. 9.
11 5 55 10
S FEM2U% (FA6A) (FEA2GHERZ G FHEEPEL)
1. 2.
BREPG S x%RFHRy® X= 2
7158 20x+50y=400 .......... (B3 5155 2 &) y=—1
m= 3
5:6)(10°4)(15:2) .. (¥ 1B 14) n= 1 ... (EH1B14)
MN= 3 e (14)
AI2% ~43% ~65% ....... a4#) A:mXn=3 ... a»)
3. 4,
K2 wHBEFI e x4 TEFEBRFD
x+y—5=2y i S
{ ............ (Glsv24)| 7 ¥4
y+6=2x
250x+ 150y =3500
Xx=1 a) (3 7L (BK 7|5 2 4)
2x+y =26
y=—4 (14)
A B3 D)oo (1) X=8 e (1 4)
Yy=10 e, (1 4)
AT (=372 oo, a ) XHy=18 1 %)
A18 % a~»)




	一段七數  題目 3.12-2改
	一段七數   答案

